
Adding/Subtracting Decimals to Hundredths (H)

Calculate each sum or difference.

9.10 − 2.71 = 8.49 + 4.74 =

6.38 − 6.10 = 5.12 + 2.43 =

7.17 + 1.53 = 7.26 + 4.79 =

2.92 + 1.54 = 9.44 − 5.72 =

9.46 + 7.50 = 6.26 + 2.90 =

7.13 − 3.78 = 6.49 − 4.08 =

3.43 + 2.10 = 6.87 + 6.54 =

6.69 − 4.67 = 8.14 + 5.12 =

8.65 + 6.35 = 4.18 − 3.43 =

6.30 − 4.78 = 7.82 + 4.39 =

Math-Drills.com



Adding/Subtracting Decimals to Hundredths (H) Answers

Calculate each sum or difference.

9.10 − 2.71 = 6.39 8.49 + 4.74 = 13.23

6.38 − 6.10 = 0.28 5.12 + 2.43 = 7.55

7.17 + 1.53 = 8.7 7.26 + 4.79 = 12.05

2.92 + 1.54 = 4.46 9.44 − 5.72 = 3.72

9.46 + 7.50 = 16.96 6.26 + 2.90 = 9.16

7.13 − 3.78 = 3.35 6.49 − 4.08 = 2.41

3.43 + 2.10 = 5.53 6.87 + 6.54 = 13.41

6.69 − 4.67 = 2.02 8.14 + 5.12 = 13.26

8.65 + 6.35 = 15 4.18 − 3.43 = 0.75

6.30 − 4.78 = 1.52 7.82 + 4.39 = 12.21
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